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qm=;+= ljj/)f
n]vf kl/If)f gePsf] 
o; q}dfl;ssf] cGTo 
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cGTo ;Dddf

n]vf kl/If)f gePsf] 
cl#Nnf] cf=j=sf] 
;DjlGwt cGTodf

1 >f]t -1=1 b]lv 1=5 ;Dd_  1,670,244,122  1,553,030,564  –   
1=1 r'Qmf k"+hL  1,505,000,000  1,505,000,000 –
1=2 hu]*f tyf sf]if  61,897,308  50,535,613 –
1=3 hLjg aLdf sf]if  97,857,142  (2,505,049) –
1=4 dxf ljkQL hu]*f  5,489,671 – –
1=5 ltg{ afls bL#{sflng C)f tyf ;fk^L – – –
2 pkof]u -2=1 b]lv 2=6 ;Dd_  1,670,244,122  1,553,030,564  –   
2=1 l:y/ ;DkQL -v'b_  40,011,576  11,766,924 –
2=2 bL#{sflng nufgL tyf shf{  593,904,216  400,000,000 –
2=3 aLdfn]v lwtf]df shf{  47,483,969 – –
2=4 v'b rfn' ;DkQL -3–4_  988,844,361  1,141,263,640  –   
2=5 ckn]vg jf ;dfof]hg x'g af+ls ljljw vr{ – – –
2=6 gfkmf gf]S;fg lx;fjjf^ ;f/]sf] gf]S;fg – – –
3 rfn' ;DkQL shf{ tyf k]ZsLx? -3=1 b]lv 3=3 ;Dd_  1,121,271,420  1,157,023,793  –   
3=1 gub tyf a}+s df}Hbft  36,715,538  4,644,628 –
3=2 cNksflng nufgL tyf shf{  1,057,125,830  1,109,224,489 –
3=3 cGo ;DkQL  27,430,053  43,154,677 –
4 rfn' bfloTj tyf Joj:yfx?  132,427,059  15,760,153  –   
4=1 rfn' bfloTj  95,228,909  13,396,723 –
4=2 c;dfKt hf]lvd jfkt Joj:yf  34,903,660  575,151 –
4=3 e'QmfgL x'g af+ls bfjL jfkt Joj:yf – – –
4=4 cGo Joj:yf  2,294,490  1,788,279 –

gfkmf gf]S;fg lx;fj
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n]vf kl/If)f gePsf] 
cl#Nnf] cf=j=sf] 
;DjlGwt cGTodf

1 cfDbfgL -1=1 b]lv 1=5 ;Dd_  68,717,976  44,311,521  –   
1=1 cfo Joo lx;fjjf^ ;f/]sf]  -16,611,333_  -1,299,059_ –
1=2 hLjg aLdf sf]ifjf^ ;f/]sf] – – –
1=3 nufgL shf{ tyf cGojf^ cfo  85,329,309  45,610,580 –
1=4 Joj:yf lkmtf{ – – –
1=5 cGo cfDbfgL – – –
2 Joj:yfkg tyf vr{x? -2=1 b]lv 2=8 ;Dd_  13,821,263  6,266,174  –   
2=1 Aoj:yfkg vr{  8,331,592  2,461,639 –
2=2 ckn]vg vr{ – – –
2=3 cGo vr{x? – – –
2=4 gf]S;fgLsf] nflu Joj:yf – – –
2=5 sd{rf/L cfjf; Joj:yf – – –
2=6 sd{rf/L af]g; Joj:yf  5,489,671  3,804,535 –
2=7 cfos/ – – –
2=8 hLjg aLdf sf]ifdf ;f/]sf] – – –

v"b gfkmf -gf]S;fg_ -1–2_  54,896,713  38,045,347  –   
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n]vf kl/If)f gePsf] 
cl#Nnf] cf=j=sf] 
;DjlGwt cGTodf

1 cfo -1=1 b]lv 1=7_  213,248,765  21,167,056  –   
1=1 aLdf z'Ns -v'b_  204,562,883  20,608,797 –   
1=2 k"g{jLdf sldzg cfo –   –   –   
1=3 nufgL, shf{ tyf cGojf^ cfo  7,722,878  558,260 –   
1=4 aLdfn]v lwtf]df shf{jf^ cfo  333,537 –   –   
1=5 cGo k|ToIf cfo  629,467 –   –   
1=6 q}dfl;ssf] z'?sf] e'QmfgL x'g af+sL bfjL jfkt Joj:yf –   –   –   
1=7 q}dfl;ssf] z'?sf] c;dfKt hf]lvd jfkt Joj:yf –   –   –   
2 Joo -2=1 b]lv 2=10_  132,002,956  24,971,164 
2=1 bfjL e'QmfgL -v'b_  650,000 –   –   
2=2 clestf{ sldzg  19,232,893  1,966,551 
2=3 :jf:Yo kl/If)f z'Ns  186,449  68,621 
2=4 k"g{jLdf sldzg vr{ –   –   –   
2=5 ;]jf z'Ns -v'b_  2,045,629  206,088 
2=6 cGo k|ToIf vr{ –   –   –   
2=7 Joj:yfkg vr{  74,984,325  22,154,753 
2=8 cfos/ –   –   –   
2=9 q}dfl;ssf] cGTosf]] e'QmfgL x'g af+sL bfjL jfkt Joj:yf –   –   –   
2=10 q}dfl;ssf] cGTosf]]] c;dfKt hf]lvd jfkt Joj:yf  34,903,660  575,151 –   
3 art -1–2_  81,245,809  -3,804,108_
3=1 hLjg aLdf sf]ifdf ;f/]sf]  97,857,142  -2,505,049_
3=2 gfkmf gf]S;fg lx;fjdf ;f/]sf]  -16,611,333_  -1,299,059_
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cl#Nnf] cf=j=sf] 
;DjlGwt cGTodf

1 aLdfz'Ns cfh{g -s"n_ /sd -?= xhf/df_ xfn;Dd  254,326  21,458 –   
2 aLdfz'Ns cfh{g -o; q}df;df_  232,868  21,458 –   
3 aLdfn]v -;+Vofdf_ -o; q}df;df_ /sd -? xhf/df_  21,697  483 –   
4 s'n bfjL e'QmfgL /sd -? xhf/df_ xfn;Dd  650 –   –   
5 s'n bfjL e'QmfgL /sd -? xhf/df_  650 –   –   
6 s'n bfjL e'QmfgL -;+Vofdf_ xfn;Dd  1 –   –   
7 s'n bfjL e'QmfgL -;+Vofdf_  1 –   –   
8 s"n sfod /x]sf] aLdfn]vsf] ;+Vof  22,179 –   –   
9 #f]lift d'gfkmf -af]g;_ sf] b/ -==========b]lv=========;Dd_ –   –   –   
10 cGtl/d d'gfkmf -af]g;_ sf] b/ -==========b]lv=========;Dd_ –   –   –   
11 e'QmfgL x'g afsL bfjL /sd -? xhf/df_ –   –   –   
12 e'QmfgL x'g afsL bfjL ;+Vofdf –   –   –   


